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—REF —MR&F 5 BF
T(uE s (FRY—4) 2500| 1|AT #&F (1R—=23) 2500| 1|mE % (EvF4—XF4) 2000
2|=88 BEX (KTC) 2500| 2|KiF #&F (RIZU) 2500 2|HHE RBR— (EvI4—XF4) 2000
3| BiE (FHEYLT=R)  2500| 3|FH L HF (BEST) 2000 3|RS HLAl (¥3R7ys8—) 2500
4|EE F— (BABY8S) 2500| 4|REE ER (BEST) 2000] 4|liA #ih (F5RHy8—) 2500
5|58 KiE (BABYSS) 2500 5|&mME Hx (ZFHAH) 2500| 5|5%F M (I9U-) 2500
6|JIIEHA+ K2 (7Y-) 2500| 6|8 XMt (BEST) 2000] 6|/MII EA (EL=7L) 2500
7| T (Bloom) 2500| 7 712H #E (B TFvOE) 2500
8|#f L HE (Vamos) 2000| 8 8B Bz (@ Te) 2500
9jhE IEz (Vamos) 2000 9 9|FHK 8 (F—L(U&T) 2500
10[388 KA (Vamos) 2000|10 10(%8 & (7Y=) 2500
1| BRHE BX (Vamos) 200011 1|#IL Fi (G” max) 2000
120 8= (Vamos) 2000| 12 12|54 @ Z9—) 2500
13[JI1iE ARk (F5RKws8—)  2500[13
14(f8@ 01T (F5RHws8i—) 2500 60 BF
15|53 (¥5RAmws8—) 2500 1|Ex HAI (JVLERE) 2500
16|5RE B (F5RHRy8—)  2500| 2|RABE X (TUEILTC) 2500
17|FE & (E9TH-2"7'1) 2000| 3|FEiK HEth (F—LU&T) 2500
18|IEE KA (BT H=-2"71) 2000| 4|{kB& BRZ (TCTC) 2000
19|HE & (Evr4-2'74)  2500| 5|fF%: E= (BEST) 2000 10 EF
20| K =H (g TC) 2500 6| &M E— (IR—=23) 2500 1|4%H B— (1R—=22) 2500
21| &R FiE (@ TC) 2500| 7|#]RA 3h (FHETC) 2500 2|#@ FnAl (79-) 2500
22(#l K— cmxesTESERD  2500| 8|l & 7= 2500] 3|&iR FX (E&£773Y-) 2000
23| RE HBiA (F5RHRw8—)  2500| 9|)IIR {EEB (FHETC) 2500| 4|&HE ¥E (7Y=) 2500
24|13 £ GEARER (BEST) 2000 58K RX (JNT1) 2500
25|EERA IEFN (G” max) 2000
26|l BEIE (#I) 2500
27|lLE R (BEST) 2000




